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O Chapter 5: JH#8ik1T (BEHHY L£ZS)

* Adjectives

* Counting
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O What is the word with the opposite
meaning? Find one from the vocabulary list
(textbook pp. 130-1).
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Find Japanes
expressions from
Ch. 5 adjectives
list that can be
associated with
each of the
following notions
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Which verb (in p. 131) represents the action
illustrated by each of the following photos?
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Odd-man out:

which does not
belong? Why?
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(reason) .
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(reason (in English)
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(reason (in English)
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appropriate?
Complete the
sentence using the
% 9 form (use the
ppropriate tense
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